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Consider a two country Ricardian model with Home and Foreign as the countries, chips and fish as the goods, and let a subscript c denote chips and subscript f denote fish. When necessary variables for the foreign will be denoted by *. Assume that consumers in each economy share identical homothetic tastes defined over chips and fish. Each economy has one unit of labor and they have unit labor requirements given by alc, alf, a*lc, a*lf.

a) What relationship among unit labor requirements must hold for Home to have a comparative advantage in chips? What relationship among unit labor requirements must hold for Foreign to have a comparative advantage in fish? What relationship among unit labor requirements must hold for Home to have an absolute advantage in fish? What relationship among unit labor requirements must hold for Foreign to have an absolute advantage in chips?

b) Suppose that Home has a comparative advantage in chips. Sketch the world production possibility frontier for this case (put chip production on the horizontal axis). At what points along this frontier is Home the sole producer of fish? At what points along this frontier is foreign the sole producer of chips? At what point along this frontier do both Home and Foreign produce chips? At what points along this frontier do both Home and Foreign  produce fish?

c) Suppose Home has an absolute and comparative advantage in chips. Are Home wages necessarily higher than Foreign wages? If Foreign has an absolute advantage in fish, then when will Foreign have higher wages than Home?

